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The graph of fis shown in the figure above. If g(x)= [ " /(¢)a, for what value of x
does g(x) have a maximum?

@Aa @b ©c Dd
(E) It cannot be determined from the information given.
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The flow of ol in barrels per hour, through a pipeline on July 9 is given by the graph
shown above. Of the following, which best approximates the total number of barrels
of oil that passed through the pipeline that day?

(A)500 (B)600  (C)2,400 (D)3,000 (E) 4,800
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Iffis a linear function and 0 < a < b, then J’ Frx)de=
P-d
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Let g(x)= [ 7 f(t)dr, where a'Sx < b. The figure above shows the graph of g on
[.b]. Which of the following could be the graph of fon [ a,5]?
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The graph of f} the derivative of f, is the line shown in the figure above. If f(0) = 5,
then f(1) =

@®o (B3 (©6 (D8 (B
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The rate of change of the altitude of a hot-air balloon is given by ()= =41 +6
for 0<7<8. Which of the following expressions gives the change in altitude of the
balloon during the time the altitude is decreasing?
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A pizza, heated to a temperature of 350 degrees Fahrenheit (°F) is taken out of an
oven and placed in a 75°F room at time t = 0 minutes. The temperature of the pizza
is changing at a rate of —110¢™"% degrees Fahrenheit per minute. To the nearest
degree, what is the temperature of the pizza at time ¢ = 5 minutes?

(A)I12°F (B)LIF  (C)147°F  (D)238°F  (E)335°F
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A particle moves along the x-axis so that at any time ¢ >0, its acceleration is given by
a(t)= 1n(1 + 2']. If the velocity of the particle is 2 at time ¢ = 1 then the velocity of

the particle at time t = 2 is

(A) 0.462 (B) 1.609 (C) 2.555 (D) 2.886 (B) 3.346
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A water tank at Camp Newton holds 1200 gallons of water at time ¢ = 0. During the time interval
0= <18 hours, water is pumped into the tank at the rate

W(t) = 95\ sin®

During the same time interval, water is removed from the tank at the rate
R(1) = 275sin” (é) gallons per hour.

() Is the amount of water in the tank increasing at time ¢ =152 Why or why not?

(b) To the nearest whole number, how many gallons of water are in the tank at ime £ = 18 7
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For 0% 1 < 12, a particle moves along the x-axis. The velocity of the particle at time 1 is given by
W)= cos(—l) The particle is at position x = —2 at time £ = 0.

(a) For 0= <12, when s the particle moving to the left?

(b) Write, but do not evaluate, an integral expression that gives the total distance traveled by the particle from
time 1= 0 totime £ = 6.

(c) Find the acceleration of the particle at time . Is the speed of the particle increasing, decreasing, or neither at
time £ = 4? Explain your reasoning.

(d) Find the position of the particle at time = 4.
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If the function f has a continuous derivative on [ 0,c ], then j f(x)dx=
W f@-10  ®f@-10]  (© f@ (D) f(x)+e
®) £(c)- £7(0)




image5.png
all x> 1, if f(x)=j:%d1, then f'(x)=
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An object moves along a straight line so that a any time  its acceleration is given by a(r) = 61. At time £ = 0,
the object’s velocity is 10 and the object’s position is 7. What i the object’s position at time £ = 2 2
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